C

1. Given: AD = BC, BC// AD -2
Prove: AABD = ACDB <d
B
Statements Reasons
1. AD=BC, BC// AD 1._Qjpven
2. BD=BD 2. (ef\exwe
3. /1=/4 3l OGS Oire. =
(" -
4. AABD = ACDB AL D) H 5
= D ET e D y c
. Given: AD = CB, DC=BA
Prove: AABC = ACDA
A B
Statements Reasons
1. AD=CB, DC = BA 1. QJ,\/&ﬂ
2. AC=AC 2. _yvelflexwe
(e X
3. AABC = ACDA 3. DD
Vv
=
. Given: RV =TV, VS bisects £ RVT
Prove: ARSV = ATSV
R 5 i
Statements Reasons
1. RV = VT, VS bisects 2 RVT 1. oiven
= Lf)!"‘ A <o (<
200 = 2 2._ Qe+ ot bise cts
3. VS=VS g e & ey ve
4. ARSV = ATSV 4. SAS
. Given: GE bisects ﬁ:, GD=GF
Prove: AGDE = AGFE
Statements Reasons
1. GE bisects DF, GD = GF 1. Q\)i\/’df\
2. DE=EF 2. dek of visects
3. GE=GE 3._yef\exve
4. AGDE = AGFE 4. v
. Given: PQ //RS, PQ=RS ——— Q
Prove: APQS = ARSQ w\
s =
Statements Reasons
1 E‘;~E,m//ﬁ 1 ey N—
2. /POS=/RSQ e V) 5 wnwit L8 Ace =
3.50=50 3._ yellexive
4. APQS = ARSQ 4. SAS



6. Given: AE =CE, Z1= /2, BE | AD
Prove: AAEB = ACED

Statements Reasons
1. AE=CE, £1= /2 1. Q\\;’Q(\
. BE L AD Q,W'é'_ﬂ
. ZAEB and ZCED are right angles def of L

i H W N

7. Given: AC and BD bisect each other at Vi

. ZAEB = ZCED
. AAEB = ACED

Prove: AAMB = ACMD

voA W N

SupSTTLUNON

AS A

Statements Reasons
1. AC and BD bisect each other 1. Q, \N en
2. AM=CM, BM = DM 2. adex of bisecas
3. ZAHB - DINC 3. Vert. /'s=
4. AARHE=A CWD 4. oSS

8. Given: DE // AB, CA //EF,

ZL1=/2, g
E is the midpoint of BC

Prove: ACDE = AEFB

Statements Reasons
1. CA//EF 1. Qi veN
2. /3=/5 2 Sazos O\t \nt £s qre =
3. DE//AB 3. 'c/ W en
4. /5=/4 4. Ok\j\_’) WAL 4S5 Qe =
5. /3=/4 5. Subshhyhon
6.2 | =v 6. Given
7. E is the midpoint of BC 7. G en
8. CE=EB 8. <{)<—J £ of o Apt
9.CE-ED 9. def. = segs. :
10. ACDE-) EFB 10. ARS




Give a reason to support each statement.

Neo’ Mt (Sore SLUV‘ If ZA and £B are a linear pair then Z/A and /B are supplementary.
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8. Given: AH and BR bisect each other at M

Prove: /A= /H

Statements

R

. If ZA and ZC are vertical angles, then ZA = /C.
3. FmZ1=m/2, and m£2 = m£3, then m£1=m/3.
: 4. If AABF = ACED, then ZA = £C.
U (./-L ('G | l.)/ 5. If ZA and /D are complementary, then mZA + mZD = 90.
6. If Tis in the interior of ZSRF, then m/SRT + mZTRF = m£SRF.
7. lfﬁ? bisects ZSRF, then m£SRT = m£TRF.

B
Reasons

cpeTe -

. AH and BR bisect each other at M

1.

G iwven

\In \ \ =
Ael of owsecy

2. AM=HM, RM = BM 2.
3. ZRMA = /BMH 3._Vecrheol £s Qve =
4. AAMR = AHMB 4. OAS
e
5. /A=/H 5. WaE
v
9. Given:l_\/ = VT, VS bisects /RVT
Prove: RS=TS
S
Statements R™  Reasons T
1. RV = VT, VS bisects ZRVT 1. O WV EN

[‘\e\ﬁ of biseck

2. /1=22 2
3. V5=Vs 3.__ceflexive
() . =
4. ARSV = ATSV 4 SAS
5. Rs=T5 sy LR THE
10. Given: AE = BC, ZEAB = /CBA
Prove: Z1= /2
Statements Reasons
1. AE=BC, ZEAB = /CBA 1. c})u\/é.(\
2. AB=AB 2._ vektlexve
3. AABC = ABAE 3, SAS
4 L1=/2 TR PRHAS
S (') 11
11. Given: /SVT = /UTV, SV = UT - L
Prove: /STV = /UVT J =
Vv [ 7] U
Statements Reasons
1. ZSVT= /UTV ii. Q\)\\léﬂ
A/ — =
2N = U ( 2. Given
3 VT=VT 5. —veblexie
= (\ T
4. ASVT = AUTV 4. ) )
5. /STV= /UVT 5 cecTC




12. Given: LP bisects ZMLN,
_PM LLM,PN LLN
Prove: PM= PN

M N
P
Statements Reasons
1. LP bisects ZMLN 1. QN 2N
AN c
2. /NLP= /MLP 2.0 6‘—( of bisectsS
3. PM L LM, PN L LN 3. O \WEeN
Tt = -
4. ZLMP and ZLNP are right angles 4._Q {"G U\( A
5. ZLMP = /LNP 5. SubSHNOhen
= )
6. LP = Lt 6. Reflexive
: (<23
7. ALMP = ALNP 7. AR D
S NN :
8. PM = PN 8. (CRCITE,
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\Writing Two Column Proofs

\Write a two column proof for each. Use notebook paper.

1. Given: RJ=RK, SJ = SK
Prove: ARSJ = ARSK

Al R Ls Problems # 1 and 2
2. Given: Z1 and Z2 are right angles, JS = KS
Prove: ARSJ = ARSK
K
R
3. Given: AB and CD o 4. Given: /3 = /4, RS bisects /TRP
bisect each other Prove: ARST = ARSP
Prove: AAXC = ABXD ) 2
@ D
X S
B
Y
5. Given: AB=CD_ 6. Given: /X=/Z
AB// CD , /3= /4
Prove: AABD = ACDB Prove: AXYA = AZYA
D c A z
2\J
N4
A B
. S C
7. Given: AC=BC L —
Xis the midpoint of AB /3 8. Given: AX L VT X
Prove: AACX ~ABCX 1=,2 /N

Y \ Prove: AVXA=ATXA /!

Z

Aé_lz'B i
X

v A T



1. Given : RIOZRL, 83=8K
Prove: ARSI = ARSK

R e
j, ROZRL | SI=3K ). given
i RS ERS & . reflexive
2 ARS e aRBl Salnnly

. Givent < ond <« are night amﬁlej &
JS = KS
Pove: ARSY 2 ARSK | :
L
), <l <2 are rynt angles /. given
Skogenis | K
15 «iza0 £3-90 15" def of Lignt £
. “lE«2 2 Substivhon
o AT R e 2 rpkheave

4. ARSY ZARSK A, 8AS




5 G)\\/Qm i P\% < D bisect eoch orher /A(
Pove * A AXC = :
= A BAD o l X
(PD
&

/ . AR ~ (O blsect each e
0?‘ A)( o € / 8\\&&0
cx = YD (Q' d‘ep Ol(b b(SQQ‘('

3. yeteol ﬁl\ﬁ\QS

A

2 Upitie e

AoAAXC =2 ABXD 4 s@;(; iy
’/7[, 6[\/ oA L © (R/
en: 43 =44 RS pisects <TRP ,
Pove: ARST = APSR i P
}1 = 5% A/% /L 65\/@ -

RS pisects <TRP

| : 9. def of bisects

SRS s 3. cellexive
4l ARST = pRSP 4. AsSA




‘ 5.\'@.‘@@(\? AP Zc O
el 0

Prove :ABRD = ACPR 3
o e

\0\'
\ aB2ceD, AB/CD ‘lk?mm
e £ S BT RS e
2D =D 3 efluxae
H. AABD 2 pcpB \4.SHS
',\{
Lo') Cient 4XE LT e
’ 4 D s
Prove : NXMA S 3@4 ‘.
o o X A Z_
g CrEpreuR S 1
4 . Rallexive
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e e 2. Refloxive
e e N 88
e
%)) Bivent AXANVT e
5 it L e g £n
Drve § AR B AT o
R e e L
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Proving Triangles Congruent

e ey s D,
1. Given: AD=BC, BC// AD N ¢

Prove: AABD = ACDB

4
A . B

Reasons

Statements
. AD=zBC,BC// AD
BD=BD

-
—_

L L1=/4

A W N
H W N

. AABD = ACDB

2. Giver: AD EEB-, DC= BA
Prove: AABC = ACDA

A B
Statements Reasons
1. AD= C_B, DC= BA 1.

2. RE/_\E 2.

3. AABC = ACDA 3.

>
3. Given: RV =TV, VS bisects ZRVT
Prove: ARSV z ATSV

Statements Reasons

1. RVaVT, v bisects £ RVT

-—

2. L1=/2

3.—\/_S;.T/—S

> W N

4, ARSV = ATSV

4. Given: GE bisects DF, GD = GF ~
Prove: AGDE = AGFE

D E F
Statements Reasons

1. GE bisects DF, GD = GF

pury

2. -l_)_EsE-:

3._G_I_EE—(_iTE

& W N

4, AGDE = AGFE

5. Given: PQ //-ES-I,F(_) =RS P j
Prove: APQS = ARSQ ;

s R

Statements Reasons A

nc
=N

l

sl

(0]

/I RS .
/TS L

2. /PQS=z /RSQ 2.
3.50=5Q 3.
4

. APQS = ARSQ 4.




6. Given: AE=CE, £1= /2, BE LAD
Prove: AAEB = ACED

. Given: DE// AB, CA //EF,
£L1=2/£2, _
E is the midpoint of BC
Prove: ACDE = AEFB

Statements

A
Statements Reasons
1. AE=CE L1242 1.
2. BE LAD 2. _
3. ZAEB and ZCED are right angles 3.
4, L/AEB= ZCED 4.
5. AAEB = ACED 5.
. Given: AC and BD bisect each other at M 4
Prove: AAMB = ACMD M
B
Statements Reasons
1. AC and BD bisect each other 1.
2. AM= M, BM = DM 2.
3.4 =/ 3. Vert. £L's=
4. A =A 4. o

Reasons

1. CA//EF
. £32/5
. DE//AB
. /b= /4
VA VA,

-—

n o W N

o
QIvEn

. Eis the midpoint of BC

2

3

4.

5

6. ~L =/
7

8. CE=EB

9

112

CRE- IR

def, = segs.

\ 10.




Give a reason to support each statement.

2
3

4
5

1. If ZA and ZB are a linear pair then ZA and £B are supplementary.

. If ZA and ZC are vertical angles, then ZA = ZC,

CFfmZ1=mz2, and m£2 =m4«3, then m£1 =mL3,

. If AABF = ACED, then ZA = £C,

. If ZA and £D are complementary, then mZA + m£D = 90.

6. If T is in the interior of ZSRF, then m£SRT + m£TRF = mZSRF.
7

—
. If RT bisects /SRF, then mZSRT = mZTRF.

R

8. Given: AH and BR bisect each other at M

Prove: ZA=z/ZH

Statements

B
Reasons

CPCTC

1. AH and BR bisect each other at M 1.

2. AM=HM, RM = BM
3. ZRMA = ZBMH

4. AAMR = AHMB

5. ZA=/ZH

oA W N

9. Given: RV E-V_T- Vs bisects ZRVT

Prove; RS=TS

Statements

S
Reasons |

1. RV 2 VT, VS bisects ZRVT

2. L1=/2
3.VS=Vs
4, ARSV = ATSV
5 RS=TS

—

i & W N

10. Given: AE = BC, ZEAB = ZCBA

Prove: £1= /22

Statements

Reasons

1. AE=BC, ZEAB = ZCBA
2. ABzAB

3. AABC = ABAE

4, L1222

11. Given; ZSVT= ZUTV, SV=UT

Prove: ZSTV = ZUVT

Statements

Reasons

1. £SVT = ZUTV

e

2, Given

3.—V?§VT_

4, ASVT = AUTV
5, ZSTV = ZUVT




12. Given: E_P_bisects s ZMLN,
_PM LLM, PNLLN
Prove: PM=PN

Statements

M N

P
Reasons

1. LP bisects ZMLN

2. ZNLP =z ZMLP

3.PM LLM, PN LLN

4. ZLMP and ZLNP are right angles
5. ZLMP = ZLNP

6. =

7. ALMP = ALNP
8, PM =PN

—_

® N

o n oA W N

. Reflexive

/\/\/\/\/\/\/\/\/\/\/\/\/\/\A/\/\/\A/\/\A/\/\/\/\/\/\/\/\/\/‘\/\/\/\/\/\/\A/\/‘\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\AAAAAAAA

L pa
Write a two column proof for each. WQ

1. Given: RJ=RK, 5J = SK
Prove: ARSJ = ARSK

R
S — 2
2. Given: Z1 and £2 are right angles, JS = KS
Prove: ARSJ = ARSK

3. Given: ABand CD
bisect each other
Prove: AAXC = ABXD

A

N
~

5. Given: AB=CD_
AB // CD
Prove: AABD = ACDB

Writing Two Column Proofs -=Bses
2
]

1

S Problems # 1 and 2

Prove: ARST = ARSP

¥

6. Given: /X=/Z 12
/L3 =/4
Prove: AefA===Ad¥\

B sla N\

/DZK / ‘ XAZAL * 0
S N/ :
A 8 _
— ¢

7. Given: AC=BC _ /\ R
— Xisthemidpointof AB /3 8. Given: AX LVT X
T AAE=ABEX /1=/2

Frove \ ProveaalA-= ATEA, /1 : 1
. 3 ?:’ ‘Lq / 1]2 \ N \
A v B LINZ= T . |
3 :
v A T !
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1.
\ l 3
o ArXZ e |3
2 ACEER 1B . A 162 N\
1—\.AP*C_X":’-A_4' B
5.<32 <y 5
3) ———

| .
J. £3=90", ¢ 4= 1. defof

3. 43224 2, _

A AR 2 AN |4 y
5 AVXAR2A | 5.
([p. AN = &1 G .




